2858.9
2858.9

goooooon

oooooo [LGB15117
0o LLD3020LCELl x1 795.0 Im
0000 K0O176314 (0) DR 1
oooao Bz1
0o 80 % 70 % 50 % 30% 0 %
0ooo 89 % |U
0o |7ol50]30]10f70]50]30f10]70]50[30]10]70]50]30]10]00%
oooo 0% |[U]q 10 % 10 % 10 % 10% |o%
ooon 89 % |pgno 000 ( X0.01) ZCM
5 0.67 0.6 |[74|l69|65|63|74|69|65|63|73|68|65|63|72|68|65|63|62
000 0 o 63 0.8 [so|75|72|69|79|75|71|69|78|74|71|69|76|73|71|69]|68
0y se 1.0 |s3|79]|76|73]|82|78|75|73|s81|77|75|73|79|76|74|72]|71
' —1.25|86|82|79|77|85|81|79|77]|83]|80]|78]|76]|82|79|77|76]|74
nooond DDZ 1.5 |ssg|sal|s2]|79]|s87]|s4]|s1]|79]|ss]|s2]so0l79]s4a|ls1|79|78]|77
0ooooo 00 2.0 |oo|s7]lss|s3|so]|se|s4a|s3]|s7|ss|s3]|s2|se]ls4]|s2|s1]709
0o 0000000 2.5 |o1]|s9|s7|ss|o0|ss|se|ss|s9|s7|ss|s4|ls7|ss|salss|sr
00 |oooooo |oooooo | 3.0 |o2]oolss]|s7|or]|solss]|selsolss|selss|sslselss|sals?
Hol o.41H | 0. 411y | 4.0 |93]92]o0|s9]o2|o1]|90]|8s|o0]|s9|ss|s7|salss|s7|se]|s4
5.0 [94]93|o2|90|93|9o2|o1|o0|o1|o0|s89|ss|sa|lsalss|s7|ss
7.0 |os|oalo3|oz2|oalo3|oz|o1|o2|o1|o0fo0|oolso|solss|ss
10.0|95|95|94]93|94|o4|o3|o3|o2|o2|o1|o1|o0fo0fo0nlsa|s7
140°
D D EV_V_\V_\V_\F'\V_V_\ SEDX 100
- 0 0 O B ~
0AaONDAd00Yy quUupuoguup oy O
4
0° 120° 5
- H=1.15
I‘ L~
4’6/,4
H=
T /,
910° 96" y A
A //' H=03
yire /
," H=4
—/,
o / H=5
//
S (]
D
SN o m e
° Q° 3 [

INIRINERINERINERINE



